
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk
lkekU; vè;;u

(vxLr eSx”khu] tk¡p ijh{kk)
fnukad& 11-08-2024

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u fy[ksaA
	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 

esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj 
dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh 
gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10.	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'ui=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ naM ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ naM ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1-	Hkkjr esa mPp f'k{kk fLFkfr;ksa ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 orZeku esa Hkkjr dh mPp f'k{kk Hkkxhnkjh nj 
(GER) 25% ls vfèkd gSA

	 2-	 jk"Vªh; f'k{kk uhfr 2020] lHkh çdkj dh mPp 
f'k{kk gsrq ,dy O;kid fudk; ds :i esa Hkkjrh; 
mPp f'k{kk vk;ksx dh LFkkiuk dk çkoèkku 
djrh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 2-	fuEufyf[kr ;qXeksa ij fopkj dhft;s% 

vkj{k.k lacaèkh 
çeq[k okn 

çkoèkku 

1. baæk lkguh okn vkj{k.k dh lhek 50% fu;r 
2. ,e- ukxjkt okn vU; fiNM+k oxZ gsrq Øheh 

ys;j dk fl¼kar 
3. tjuSy flag okn ,llh@,lVh inksUufr gsrq 

ek=kkRed MkVk laxzg.k 
vfuok;Z ugha

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 lHkh rhu	 (d)	 dksbZ ugha

	 3-	fuEufyf[kr ij fopkj dhft;s%

	 1-	 Hkkjrh; lafoèkku dk vuqPNsn 21 
	 2-	 Hkkjrh; dkWihjkbV vfèkfu;e] 1957 
	 3-	 Hkkjrh; VªsMekdZ vfèkfu;e] 1999

	 	mi;ZqDr esa ls fdrus Hkkjr esa O;fDrRo vfèkdkjksa dh 
lqj{kk ls lacafèkr gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 lHkh rhu	 (d)	 dksbZ ugha

	 4-	Hkkjr esa yksdlHkk pquko 2024 ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 yksdlHkk pquko 2019 dh vis{kk bl pquko esa 
efgykvksa dk çfrfufèkRo c<+k gSA

	 2-	 bl yksdlHkk eas efgyk çfrfufèkRo esa lokZfèkd 
;ksxnku if'pe caxky dk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2 

	 1.	 With reference to the higher education situation in 
India, consider the following statements:

	 1.	 India’s higher education participation rate 
(GER) currently stands at over 25%.

	 2.	 The National Education Policy 2020 provides 
for the establishment of the Higher Education 
Commission of India as a single overarching 
body for all forms of higher education.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 2.	  Consider the following pairs: 

Major case relat-
ed to reservation

Provision

1. Indra Sawhney 
Case
 

Reservation limit 
fixed at 50% 

2. M. Nagaraj Case Creamy Layer Princi-
ple for Other Back-
ward Classes

3. Jarnail Singh 
Case

Quantitative data 
collection is not 
mandatory for SC/ST 
promotions

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None

	 3.	  Consider the following:
	 1.	 Article 21 of the Indian Constitution
	 2.	 The Indian Copyright Act, 1957 
	 3.	 Indian Trademark Act, 1999

		  How many of the above are related to the protection 
of personality rights in India?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None

	 4.	 With reference to Lok Sabha Elections 2024 in 
India, consider the following statements:

	 1.	 The representation of women has increased 
in this election compared to the 2019 Lok 
Sabha elections.

	 2.	 West Bengal has the highest contribution in 
women representation in this Lok Sabha.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
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	 5-	fuEufyf[kr lwpuk ij fopkj dhft;s%

Hkkjr esa 
xBcaèku 
ljdkjsa

dk;Zdky 
çeq[k dk;Z@

fu.kZ;

1. ih- oh- 
ujflEgk jko 
ljdkj

1993-1996 vkfFkZd 
mnkjhdj.k

2. nsoxkSM+k 
ljdkj 

1996-1997 fo'o O;kikj 
laxBu dh 
lnL;rk 

3. vVy fcgkjh 
oktis;h 
ljdkj

1998-2004 jktdks"kh; 
mÙkjnkf;Ro ,oa 
ctV çcaèku 
vfèkfu;e

	 	mi;ZqDr lwpuk esa ls fdruh iafDr;k¡ lgh lqesfyr gSa\ 

	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 lHkh rhu	 (d)	 dksbZ ugha

	 6-	fuEufyf[kr ij fopkj dhft;s%

	 1-	 ;ksx ,oa çkÑfrd fpfdRlk
	 2-	 ,yksiSFkh
	 3-	 gksE;ksiSFkh
	 4-	 vk;qoZsn
	 5.	 ;wukuh

	 	mi;ZqDr esa ls fdruh vk;q"k fpfdRlk ç.kkyh esa 
lfEefyr gSa\

	 (a)	 dsoy nks	 (b)	 dsoy rhu
	 (c)	 dsoy pkj	 (d)	 lHkh ik¡p 

	 7-	fuEufyf[kr dFkuksa ij fopkj dhft;s% 

	 	dFku&I% �gky ds o"kks± esa Hkkjr }kjk vizQhdh ns'kksa esa 
[kfut vfèkxzg.k ;kstukvksa dk foLrkj fd;k 
x;k gSA

	 	dFku&II% �nq"dj [kfut lalkèkuksa ds dkj.k vU; ns'kksa 
us vizQhdh {ks=k ds [kuu fuos'k esa v#fp 
O;Dr dh gSA

	 	mi;ZqDr dFkuksa ds ckjs esa] fuEufyf[kr esa ls dkSu&lk 
,d lgh gS\

	 (a)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh lgh O;k[;k gSA

	 (b)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh lgh O;k[;k ugha gSA

	 (c)	 dFku&I lgh gS vkSj dFku&II xyr gSA
	 (d)	 dFku&I xyr gS vkSj dFku&II lgh gSA

	 5.	 Consider the following information:

Coalition 
governments 

in India
Tenure

Major 
Actions/De-

cisions
1. P.V. Nara-

simha Rao 
Government

1993-1996 Economic 
liberalization

2. Deve Gowda 
Government

1996-1997 WTO mem-
bership 

3. Atal Bihari 
Vajpayee 
Government

1998-2004 Fiscal Re-
sponsibility 
and Budget 
Management 
Act

		  How many rows of the above information are 
correctly matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None

	 6.	 Consider the following:
	 1.	 Yoga and Naturopathy
	 2.	 Allopathy
	 3.	 Homeopathy
	 4.	 Ayurveda
	 5.	 Unani

	 	 How many of the above are included in the AYUSH 
system of medicine?

	 (a)	 Only two	 (b)	 Only three
	 (c)	 Only four	 (d)	 All five

	 7.	 Consider the following statements:
		  Statement-I: �India’s mineral acquisition plans in 

African countries have expanded in 
recent years.

		  Statement-II: �Other countries have expressed 
reluctance in mining investment in 
the African region due to scarce 
mineral resources.

		  Which one of the following is correct in respect of 
the above statements?

	 (a)	 Both Statement-I and Statement-II are correct 
and Statement-II is the correct explanation of 
Statement-I.

	 (b)	 Both Statement-I and Statement-II are 
correct and Statement-II is not the correct 
explanation of Statement-I.

	 (c)	 Statement-I is correct and Statement-II is 
wrong.

	 (d)	 Statement-I is wrong and Statement-II is 
correct.
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	 8-	gky gh esa] Hkkjr ljdkj }kjk xsgw¡ vk;kr djus ds 
dkj.kksa ds lacaèk esa fuEufyf[kr dFkuksa esa ls dkSu&lk 
lgh ugha gS\

	 (a)	 foxr o"kks± esa xsgw¡ ds mRiknu esa fxjkoV ntZ dh 
xbZ gSA

	 (b)	 xsgw¡ ds ?kjsyw HkaMkj.k esa deh ntZ dh xbZ gSA
	 (c)	 ljdkj }kjk xsgw¡ dh [kjhn esa f'kfFkyrk jgh gSA
	 (d)	 xsgw¡ dh ?kjsyw ck”kkj dherksa esa deh vkbZ gSA

	 9-	Hkkjr esa Lo.kZ HkaMkj.k ds lanHkZ esa] fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 Hkkjrh; fj”koZ cSad }kjk foÙk o"kZ 2022 ls 2024 
ds chp Lo.kZ [kjhn esa mÙkjksÙkj o`f¼ gqbZ gSA

	 2-	 Hkkjrh; fj”koZ cSad Lo.kZ [kjhnus okys 'kh"kZ 5 
oSf'od laLFkkuksa esa lfEefyr gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2 

	10-	^ck;ksiQkekZL;qfVdy ,yk;al* ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g oSf'od Lrj ij nok vkiwfrZ   Ük`a[kyk çcaèku 
gsrq yf{kr gSA

	 2-	 Hkkjr ,oa phu bl ,yk;al ds laLFkkid lnL;ksa 
esa lfEefyr gaSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	11-	gky gh esa ppkZ esa jgh èkku dh [ksrh dh ^Vkj&okVj* 
rduhdh ds çR;{k ykHkksa esa fuEufyf[kr esa ls dkSu&lk 
lfEefyr ugha gS\

	 (a)	 ty dk U;wure mi;ksx
	 (b)	 ifjiDOkrk vofèk esa deh
	 (c)	 e`nk LokLF; esa lqèkkj
	 (d)	 [kjirokj esa deh 

	12-	gky gh esa] ^LDokM (squad)* 'kCn dh lgh ,oa 
okLrfod vFkks± esa ppkZ fuEufyf[kr fdl lanHkZ esa dh 
xbZ gS\

	 (a)	 ;g nf{k.k vizQhdh ns'kksa dk ,d vkfFkZd lewg gSA
	 (b)	 ;g phu }kjk DokM dks larqfyr djus gsrq ,d 

j.kuhfrd lewg gSA
	 (c)	 ;g nf{k.kh phu lkxj esa fiQfyihal dks leqæh 

lqj{kk çnku djus gsrq ,d vukSipkfjd lewg gSA
	 (d)	 ;g eè; ,f'k;kbZ ns'kksa dk ÅtkZ lqj{kk gsrq ,d 

j.kuhfrd lewg gSA

	 8.	 Which of the following statements regarding the 
reasons for importing wheat by the Indian 
Government recently is not correct?

	 (a)	 There has been a decline in wheat production 
in the past years.

	 (b)	 There has been a decrease in domestic 
storage of wheat.

	 (c)	 There has been laxity in the purchase of 
wheat by the government.

	 (d)	 There has been a decline in the domestic 
market prices of wheat.

	 9. 	With reference to gold storage in India, consider 
the following statements:

	 1.	 There has been a progressive increase in 
gold purchases by the Reserve Bank of India 
between FY 2022 to 2024.

	 2.	 The Reserve Bank of India is among the top 
5 global gold buying institutions.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 10.	 With reference to the ‘Biopharmaceutical 
Alliance’, consider the following statements:

	 1.	 It is aimed at pharmaceutical supply chain 
management on a global scale.

	 2.	 India and China are among the founding 
members of this alliance.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 11.	 Which one of the following is not included in the 
direct benefits of the ‘tar-water’ technology of 
paddy cultivation, which is in the news recently?

	 (a)	 Minimum use of water
	 (b)	 Reduction in maturity period
	 (c)	 Improvement in soil health
	 (d)	 Reduction in weeds

	 12.	 Recently, the term ‘squad’ has been discussed in 
its true and real sense in which of the following 
contexts?

	 (a)	 It is an economic group of South African 
countries.

	 (b)	 It is a strategic group formed by China to 
balance the Quad.

	 (c)	 It is an informal group to provide maritime 
security to the Philippines in the South China 
Sea.

	 (d)	 It is a strategic group of Central Asian 
countries for energy security.
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	13-	gky gh esa] fuEufyf[kr esa ls fdl [kkM+h ns'k esa Hkh"k.k 
vkx ds dkj.k 40 çoklh Hkkjrh; ukxfjdksa dh ekSr gks 
xbZ Fkh\

	 (a)	 vkseku	 (b)	 drj
	 (c)	 dqoSr	 (d)	 cgjhu

	14-	oSf'od 'kj.kkFkhZ igyksa ds lanHkZ esa] fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 oSf'od Lrj ij 'kj.kkFkhZ vfHkle; 1951 ykxw 
fd;k x;k gSA

	 2-	 Hkkjr 'kj.kkFkhZ vfHkle; 1951 dk ,d 
gLrk{kjdÙkkZ ns'k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 u gh 2

	15-	Hkq[kejh ls fuiVus gsrq ^,VEl4iQwM* uked igy] 
fuEufyf[kr fdlds }kjk lapkfyr gS\

	 (a)	 la;qDr jk"Vª fodkl dk;ZØe ,oa varjkZ"Vªh; 
ijek.kq ÅtkZ ,tsalh

	 (b)	 [kk| ,oa Ñf"k laxBu ,oa varjkZ"Vªh; ijek.kq ÅtkZ 
,tsalh 

	 (c)	 la;qDr jk"Vª fodkl dk;ZØe ,oa fo'o cSad 
	 (d)	 fo'o cSad ,oa varjkZ"Vªh; ijek.kq ÅtkZ ,tsalh 

	16-	fuEufyf[kr ;qXeksa ij fopkj dhft;s% 

Hkkjr esa bysfDVªd okgu 
fodkl j.kuhfr

çkjaHk o"kZ

1. jk"Vªh; bysfDVªd eksfcfyVh fe'ku 
;kstuk

2009 

2. iQkLVj ,MkWI'ku ,aM esuqiQSDpfjax 
vkWiQ gkbfczM ,aM bysfDVªd 
OghdYl (FAME)&I 

2015 

3. iQkLVj ,MkWI'ku ,aM esuqiQSDpfjax 
vkWiQ gkbfczM ,aM bysfDVªd 
OghdYl (FAME)&II

2019 

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\
	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 lHkh rhu	 (d)	 dksbZ ugha

	17-	dktk {ks=k ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g 5 nf{k.k vÚhdh ns'kksa eas foLr`r ,d çkÑfrd 
{ks=k gSA

	 2-	 bldh yxHkx 70% Hkwfe laj{k.k ds vèkhu gSA
	 3-	 o"kZ 2024 ds blds lnL; ns'kksa ds f'k[kj lEesyu 

ds nkSjku blus yqIrçk; çtkfr;ksa ds varjkZ"Vªh; 
O;kikj ij dUosa'ku (CITES) ls vyx gksus dk 
fu.kZ; fy;kA

	 13.	 Recently, 40 expatriate Indian citizens died due to 
a massive fire in which of the following Gulf 
countries?

	 (a)	 Oman	 (b)	 Qatar
	 (c)	 Kuwait	 (d)	 Bahrain

	 14.	 With reference to global refugee initiatives, 
consider the following statements:

	 1.	 The Refugee Convention 1951 has been 
implemented globally.

	 2.	 India is a signatory to the Refugee Convention 
1951.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 15.	 The initiative ‘Atoms 4Food’ to combat hunger is 
run by which of the following?

	 (a)	 United Nations Development Programme 
and International Atomic Energy Agency

	 (b)	 Food and Agriculture Organization and 
International Atomic Energy Agency

	 (c)	 United Nations Development Programme 
and World Bank

	 (d)	 World Bank and International Atomic Energy 
Agency

	 16.	 Consider the following pairs:

Electric Vehicle Develop-
ment Strategy in India

Start 
Year

1. National Electric Mobility 
Mission Plan

2009 

2. Faster Adoption and Manu-
facturing of Hybrid and Elec-
tric Vehicles (FAME)-I

2015 

3. Faster Adoption and Manu-
facturing of Hybrid and Elec-
tric Vehicles (FAME)-II

2019 

		  How many of the above pairs are correctly 
matched?

	 (a)	 One only	 (b)	 Two only 
	 (c)	 All three	 (d)	 None

	 17.	 With reference to the KAZA region, consider the 
following statements:

	 1.	 It is a natural region spread across 5 southern 
African countries.

	 2.	 About 70% of its land is under protection.
	 3.	 It decided to withdraw from the Convention 

on International Trade in Endangered Species 
(CITES) during its 2024 summit of member 
countries.
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	 	mi;ZqDr dFkuksa esa ls fdrus lgh gS@gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 lHkh rhu	 (d)	 dksbZ ugha

	18-	Xykscy ukbZVªl vkWDlkbM ctV 2024 ds lanHkZ esa] 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjr ukbVªl vkWDlkbM dk nwljk lcls cM+k 
mRltZd ns'k gSA

	 2-	 Hkkjr esa ukbVªl vkWDlkbM dk çfr O;fDr mRiknu 
lcls de gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2

	19-	gky gh esa ppkZ esa jgs if'peh ?kkV ikfjfLFkfrdh; 
laosnu'khy {ks=k ds lanHkZ esa] fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g Ng Hkkjrh; jkT;ksa esa foLr`r] if'peh ?kkV ds 
37% Hkkx dks vkPNkfnr djrk gSA

	 2-	 bls 2011 esa xfBr xkMfxy lfefr dh fliQkfj'kksa 
ds vuqlkj fuèkkZfjr fd;k x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2

	20-	gky gh esa] ^pkbYM iQwM ikoVhZ% U;wVªh'ku fMizkbos'ku 
bu vyhZ pkbYMgqM* uked fjiksVZ fuEufyf[kr fdl 
oSf'od laLFkk }kjk tkjh dh xbZ gS\

	 (a)	 ;wfulsiQ
	 (b)	 la;qDr jk"Vª fodkl dk;ZØe
	 (c)	 fo'o cSad
	 (d)	 fo'o vkfFkZd eap 

	21-	gky gh esa] ppkZ esa jgs ukyank fo'ofo|ky; ds uohu 
ifjlj ds lacaèk esa] fuEufyf[kr dFkuksa esa ls dkSu&lk 
lgh ugha gS\

	 (a)	 bldh LFkkiuk dk çLrko 2006 esa iwoZ jk"Vªifr 
MkW-,-ih-ts- vCnqy dyke }kjk çLrqr fd;k x;k 
FkkA

	 (b)	 bldh LFkkiuk lacaèkh ukyank fo'ofo|ky; 
foèks;d 2013 esa ikfjr fd;k x;k FkkA

	 (c)	 orZeku esa ;g ifjlj fcgkj ds jktxhj esa gSA
	 (d)	 ;g fo'ofo|ky; ifjlj ,d usV ”khjks ifjlj gSA

		  How many of the above statements is/are correct?
	 (a)	 One only	 (b)	 Two only 
	 (c)	 All three	 (d)	 None

	 18.	 With reference to the Global Nitrous Oxide Budget 
2024, consider the following statements:

	 1.	 India is the second largest emitter of nitrous 
oxide.

	 2.	 India has the lowest per capita production of 
nitrous oxide.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 19.	 With reference to the Western Ghats Ecologically 
Sensitive Region, which was in news recently, 
consider the following statements:

	 1.	 It covers 37% of the Western Ghats, spread 
across six Indian states.

	 2.	 It has been determined as per the 
recommendations of the Gadgil Committee 
constituted in 2011.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 20.	 Recently, a report titled ‘Child Food Poverty: 
Nutrition Deprivation in Early Childhood’ has been 
released by which of the following global 
organizations?

	 (a)	 UNICEF
	 (b)	 United Nations Development Programme
	 (c)	 World Bank
	 (d)	 World Economic Forum

	 21.	 Which of the following statements is not correct 
regarding the new campus of Nalanda University, 
which was in the news recently?

	 (a)	 The proposal for its establishment was 
presented by former President Dr. A.P.J. 
Abdul Kalam in 2006.

	 (b)	 The Nalanda University Bill regarding its 
establishment was passed in 2013.

	 (c)	 Currently this campus is in Rajgir, Bihar.
	 (d)	 This university campus is a net zero campus.
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	22-	gky gh esa] ^fyfoax foy* 'kCn dh lgh ,oa okLrfod 
vFkks± esa ppkZ fuEufyf[kr fdl lanHkZ esa dh xbZ gS\ 

	 (a)	 ;g fdlh O;fDr ds bfPNr fn'kk&funZs'k gSa] tks 
fdlh LFkku ij mldh vuqifLFkfr esa rRdky 
fu.kZ;u esa lgk;rk çnku djrs gSaA

	 (b)	 ;g fdlh O;fDr ds thus dh bPNk esa vewrZ 
ckèkdksa ds fuokj.k dk fooj.k gSA

	 (c)	 ;g fdlh O;fDr }kjk Lo;a ds ckjs esa fu.kZ; u 
dj ikus dh fLFkfr esa mlds ifjokj ds fy;s mUur 
fpfdRlk funZs'k gSA

	 (d)	 ;g ,sls fn'kk&funZs'k gSa] ftuds vkèkkj ij O;fDr 
dh vlkef;d e`R;q dh n'kk esa mldh olh;r 
fufeZr djus dk vfèkdkj çnku fd;k tkrk gSA

	23-	gky gh esa ppkZ esa jgs flafMdsV ½.k ds lanHkZ esa] 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g ,d c`gn~ foÙkiks"k.k gsrq lapkfyr cgqlzksr 
vkèkkfjr ½.k ;kstuk gSA

	 2-	 ;g ,d mPp tksf[ke okyh foÙkh; ;kstuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2

	24-	dksyacks çfØ;k ds lanHkZ esa] fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g fons'kh jks”kxkj lacaèkh lokZsÙke çFkkvksa dks 
lk>k djus gsrq ns'kksa dk lewg gSA

	 2-	 blesa dsoy ,f'k;kbZ ns'k lfEefyr gaSA
	 3-	 orZeku esa Hkkjr bl lewg dk vè;{k gSA

	 	mi;ZqDr dFkuksa esa ls fdrus lgh gS@gSa\

	 (a)	 dsoy ,d
	 (b)	 dsoy nks
	 (c)	 lHkh rhu
	 (d)	 dksbZ ugha

	25-	G&7 f'k[kj lEesyu ds lanHkZ esa] fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 ;g bl lewg dk 50ok¡ f'k[kj lEesyu gSA
	 2-	 Hkkjrh; çèkkuea=kh }kjk bl lEesyu esa Hkkxhnkjh 

dh xbZ gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2

	 22.	 Recently, the term ‘living will’ has been discussed 
in its true and real sense in which of the following 
contexts?

	 (a)	 It is a person’s desired instructions which 
help in immediate decision making in his 
absence from a place.

	 (b)	 It is a statement of the removal of intangible 
obstacles in a person’s wish to live.

	 (c)	 It is an advanced medical directive for the 
family of a person in case he is unable to 
make decisions about himself.

	 (d)	 It is such instructions on the basis of which 
the right to make a will is granted in case of 
untimely death of the person.

	 23.	 With reference to syndicate loan, which was in 
news recently, consider the following statements:

	 1.	 It is a multi-source based loan scheme 
operated for large scale financing.

	 2.	 It is a high risk financial scheme.

		  Which of the above statements is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 24.	 With reference to the Colombo Process, consider 
the following statements:

	 1.	 It is a group of countries to share best 
practices related to offshore employment.

	 2.	 It includes only Asian countries.
	 3.	 India is currently the chairman of this group.

		  How many of the above statements is/are correct?
	 (a)	 One only
	 (b)	 Two only 
	 (c)	 All three
	 (d)	 None

	 25.	 With reference to the G-7 summit, consider the 
following statements:

	 1.	 This is the 50th summit of this group.
	 2.	 The summit is attended by the Indian Prime 

Minister.

		  Which of the above statements is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
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	26-	foi{k ds usrk (Leader of Opposition) in ds lanHkZ 
esa] fuEufyf[kr dFkuksa esa ls dkSu&lk lgh ugha gS\

	 (a)	 	;g in yksdlHkk dh dqy lnL; la[;k ds nlosa 
Hkkx ls de lhVsa u j[kus okys lcls cM+s foi{kh 
ny ds usrk dks çnku fd;k tkrk gSA

	 (b)	 og ijaijkxr :i ls yksd ys[kk lfefr dk vè;{k 
fu;qDr fd;k tkrk gSA 

	 (c)	 og çeq[k dsaæh; vk;ksxksa@oSèkkfud fudk;ksa ds 
çeq[kksa gsrq p;u lfefr dk lnL; gksrk gSA

	 (d) 	 ;g in Hkkjrh; lafoèkku ds Hkkx 5 ds varxZr 
mfYyf[kr gSA

	27-	fuEufyf[kr ;qXeksa ij fopkj dhft;s% 

50% lhek ls vfèkd 
vkj{k.k çnku djus okys 

jkT;

% vkj{k.k

1. rfeyukMq 60%
2. NÙkhlx<+ 72% 
3. fe”kksje 80%

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\ 

	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 lHkh rhu	 (d)	 dksbZ ugha

	28-	lkaln LFkkuh; {ks=k fodkl ;kstuk (MPLADS) fufèk 
ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 bldk mi;ksx fdlh lkaln }kjk dsoy oSèkkfud 
fn'kkfunZs'kksa ds vuqlkj gh fd;k tk ldrk gSA

	 2-	 dsaæh; lwpuk vk;ksx bl fufèk ds mi;ksx ls 
lacafèkr fVIi.kh ,oa lq>ko çsf"kr dj ldrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

	29-	gky gh esa tkjh fd;s x, ̂ ikFk Vw ihl* uked nLrkos”k 
dk lacaèk fuEufyf[kr esa ls fduls gS\

	 (a)	 b”kjkby&gekl 
	 (b)	 :l&;wØsu 
	 (c)	 rkfycku&viQxkfuLrku 
	 (d)	 phu&gkWUxdkWUx

	30-	gky gh esa ppkZ esa jgs xzsVj Vquc] yslj Vquc ,oa ewlk 
}hi fuEufyf[kr fdl lkxjh; {ks=k esa fLFkr gSa\

	 (a)	 vjc lkxj 
	 (b)	 Hkweè; lkxj 
	 (c)	 nf{k.k phu lkxj
	 (d)	 dSjsfc;u lkxj 

	 26.	 With reference to the post of Leader of Opposition, 
which one of the following statements is not 
correct?

	 (a)	 The post is given to the leader of the largest 
opposition party having not less than one-
tenth of the total number of seats in the Lok 
Sabha.

	 (b)	 He is traditionally appointed the Chairman 
of the Public Accounts Committee.

	 (c)	 He is the member of the Selection Committee 
for heads of major Central Commissions/
Statutory Bodies.

	 (d)	 The post is mentioned under Part 5 of the 
Indian Constitution.

	 27.	 Consider the following pairs:

States providing reser-
vation above 50% limit

Reservation 
%

1. Tamil Nadu 60%
2. Chhattisgarh 72% 
3. Mizoram 80%

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None

	 28.	 With reference to the Member of Parliament Local 
Area Development Scheme (MPLADS) Fund, 
consider the following statements:

	 1.	 It can be used by an MP only as per the 
statutory guidelines.

	 2.	 The Central Information Commission can 
send comments and suggestions regarding 
the use of this fund.

	 	 Which of the above statements is/are correct?
	 (a)	 Only 1	 (b)	 Only 2
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 29.	 The recently released document titled ‘Path to 
Peace’ is related to which of the following?

	 (a)	 Israel–	Hamas
	 (b)	 Russia–Ukraine
	 (c)	 Taliban–Afghanistan
	 (d)	 China–Hong Kong

	 30.	 The Greater Tunb, Lesser Tunb and Musa Islands, 
which were in the news recently, are located in 
which of the following sea areas?

	 (a)	 Arabian Sea
	 (b)	 Mediterranean Sea
	 (c)	 South China Sea
	 (d)	 Caribbean Sea
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	31-	fuEufyf[kr ns'kksa ij fopkj dhft;s% 

	 1.	 ikfdLrku 
	 2.	 lksekfy;k 
	 3.	 iukek 
	 4.	 ekstkfEcd
	 5.	 tkiku 

	 	mi;ZqDr esa ls fdrus ns'k 1 tuojh] 2025 ls dk;Z 
çkjaHk djus okys la;qDr jk"Vª lqj{kk ifj"kn ds uofuokZfpr 
vLFkk;h lnL; gSa\

	 (a)	 dsoy nks 	 (b)	 dsoy rhu 
	 (c)	 dsoy pkj 	 (d)	 lHkh ik¡p 

	32-	fuEufyf[kr ns'kksa ij fopkj dhft;s%

	 1-	 felz 
	 2-	 bZjku 
	 3-	 la;qDr vjc vehjkr 
	 4-	 lÅnh vjc
	 5-	 bFkksfi;k 

	 	mi;ZqDr esa ls fdrus ns'k 1 tuojh] 2024 ls fczDl 
(BRICS) esa lfEefyr gksus okys u, lnL; gSa\ 

	 (a)	 dsoy nks 	 (b)	 dsoy rhu 
	 (c)	 dsoy pkj 	 (d)	 lHkh ik¡p 

	33-	fuEufyf[kr ;qXeksa ij fopkj dhft;s% 

varfj{k lacafèkr 
fe'ku@igy

lacafèkr ns'k

1. çhiQk;j fe'ku vesfjdk
2. fo'o dk igyk 3-D 

fçaVsM jkWdsV batu 
phu

3. fo'o dk çFke dk"B 
fufeZr mixzg 

tkiku

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d 	 (b)	 dsoy nks 
	 (c)	 lHkh rhu 	 (d)	 dksbZ ugha 

	34-	^çokg (PraVaHa)* lkWÝVos;j ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s% 

	 1-	 bls ,;jksLisl okguksa dh ok;qxfrdh ,oa mQ"ekxfrdh 
dk fo'ys"k.k djus gsrq fodflr fd;k x;k gSA

	 2-	 bldk fodkl çxr lax.ku fodkl dsaæ (C-DAC) 
}kjk fd;k x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1 
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1] u gh 2

	 31.	 Consider the following countries:
	 1.	 Pakistan
	 2.	 Somalia
	 3.	 Panama
	 4.	 Mozambique
	 5.	 Japan

		  How many of the above are the newly elected 
non-permanent members of the United Nations 
Security Council starting from 1 January 2025?

	 (a)	 Only two	 (b)	 Only three
	 (c)	 Only four	 (d)	 All five

	 32.	 Consider the following countries:
	 1.	 Egypt
	 2.	 Iran
	 3.	 United Arab Emirates
	 4.	 Saudi Arabia
	 5.	 Ethiopia

		  How many of the above are the new members 
joining BRICS from 1 January 2024?

	 (a)	 Only two	 (b)	 Only three
	 (c)	 Only four	 (d)	 All five

	 33.	 Consider the following pairs: 

Space related mission/
initiative

Related 
country

1.  Prefire mission USA
2. World’s first 3D printed 

rocket engine 
China

3. World’s f irs t  wooden 
satellite

Japan

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None

	 34.	 With reference to ‘PraVaHa’ software, consider 
the following statements:

	 1.	 It has been developed to analyse the 
aerodynamics and thermodynamics of 
aerospace vehicles.

	 2.	 It has been developed by the Centre for 
Development of Advanced Computing 
(C-DAC).

		  Which of the above statements is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
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	35-	gky gh esa varjkZ"Vªh; lkSj xBcaèku (ISA) dk 99ok¡ 
iw.kZ lnL; fuEufyf[kr esa ls dkSu&lk ns'k cuk gS\

	 (a)	 Lisu 	 (b)	 xzhl 
	 (c)	 ekYVk 	 (d)	 ratkfu;k

	36-	,uok;jesaV Ýyks (bZ&Ýyks) ekWfuVfjax flLVe ds lanHkZ 
esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g tyh; ikfjfLFkfrdh; ç.kkyh dh LokLF; 
xq.koÙkk fuxjkuh gsrq fodflr fd;k x;k gSA

	 2-	 bls dsaæh; ty 'kfDr ea=kky; }kjk fodflr fd;k 
x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2 

	37-	gky gh esa ppkZ esa jgs xkaèkh lkxj oU; tho vHk;kj.; 
ds lanHkZ esa fuEufyf[kr esa ls dkSu&lk dFku lgh 
ugha gS\ 

	 (a)	 ;g vHk;kj.; egkjk"Vª esa vofLFkr gSA
	 (b)	 bldh tyok;q ikfjfLFkfrdh lkouk rqY; gSA
	 (c)	 çkstsDV phrk ds f}rh; pj.k esa ;gk¡ phrksa dks 

vfèkokflr fd;k tk,xkA
	 (d)	 blds varxZr ckjgeklh unh ?kkfV;k¡ gSaA

	38-	gky gh esa ppkZ esa jgs ̂ vtj[k f'kYi* ,oa ̂ csyk CykWd 
fçafVax* dk lacaèk fuEufyf[kr fdl jkT;@dsanz'kkflr 
izns'k ls gS\

	 (a)	 vksfM'kk 
	 (b)	 xqtjkr 
	 (c)	 tEew&d'ehj 
	 (d)	 jktLFkku 

	39-	#æe&II felkby ç.kkyh ds lanHkZ esa] fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 ;g Bksl b±èku lapkfyr gok&ls&lrg ij ekj djus 
esa l{ke gSA

	 2-	 ;g ,d Lons'kh felkby gS] ftldk fodkl Hkkjr 
Mk;ukWfeDl fyfeVsM }kjk fd;k x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1] u gh 2 

	40-	vH;kl rjax 'kfDr&2024 ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s% 

	 1-	 ;g Hkkjr }kjk vk;ksftr ,d cgqjk"Vªh; ukSlSU; 
vH;kl gSA

	 2-	 blesa dsoy ,f'k;kbZ ns'k lfEefyr gSaA
	 3-	 ;g vesfjdk }kjk vk;ksftr jsM ÝySx vH;kl ls 

çsfjr gSA

	 35.	 Which of the following countries has recently 
become the 99th full member of the International 
Solar Alliance (ISA)?

	 (a)	 Spain	 (b)	 Greece
	 (c)	 Malta	 (d)	 Tanzania

	 36.	 With reference to Environment Flow (E-flow) 
Monitoring System, consider the following 
statements:

	 1.	 It has been developed for health quality 
monitoring of aquatic ecosystems.

	 2.	 It has been developed by the Union Ministry 
of Jal Shakti.

		  Which of the above statements is/are correct?
	 (a)	 Only 1	 (b)	 Only 2
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 37.	 With reference to the Gandhi Sagar Wildlife 
Sanctuary, which was in news recently, which one 
of the following statements is not correct?

	 (a)	 This sanctuary is located in Maharashtra.
	 (b)	 Its climate ecology is Savannah-like.
	 (c)	 In the second phase of Project Cheetah, 

cheetahs will be rehabilitated here.
	 (d)	 It covers perennial river valleys.

	 38.	 ‘Ajrakh craft’ and ‘Bella block printing’, which 
were in news recently, are related to which of the 
following states?

	 (a)	 Odisha	
	 (b)	 Gujarat
	 (c)	 Jammu and Kashmir
	 (d)	 Rajasthan

	 39.	 With reference to the  RudraM-II missile system, 
consider the following statements:

	 1.	 It is a solid fuel powered air-to-surface 
missile.

	 2.	 It is an indigenous missile developed by 
Bharat Dynamics Limited.

		  Which of the statements given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2

	 40.	 With reference to exercise ‘Tarang Shakti-2024’, 
consider the following statements:

	 1.	 It is a multinational naval exercise organized 
by India.

	 2.	 It involves only Asian countries.
	 3.	 It is inspired by the Red Flag exercise 

organized by the US.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1  	 (b)	 dsoy 2 
	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3

	41-	fuEufyf[kr lwpuk ij fopkj dhft;s% 

Hkkjr esa 
;wusLdks fo'o 
fojklr LFky

jkT; fooj.k

1. ppZ vkSj dkUosaV xksok ,f'k;k esa blkbZ 
èkeZ çpkj dk 
dsaæ 

2. ,yksjk dh xqiQk egkjk"Vª fgUnw] ckS¼ 
,oa tSu lacaèkh 
LFkkiR;

3. jkeIik eafnj dukZVd dkdrh; dky 
ls lacafèkr 

4. iV~Vn~dy Lekjd 
lewg

dsjy psj oa'k ls 
lacafèkr

	 	mi;ZqDr esa ls dkSu&lh iafDr;ksa esa nh xbZ lwpuk lgh 
lqesfyr gS\ 

	 (a)	 1 vkSj 2 	 (b)	 2 vkSj 3 
	 (c)	 3 vkSj 4 	 (d)	 1 vkSj 4 

	42-	iQwyksa dh ?kkVh jk"Vªh; m|ku fuEufyf[kr fdl jkT;@
dsaæ 'kkflr çns'k esa gS\ 

	 (a)	 tEew vkSj d'ehj 
	 (b)	 yn~nk[k 
	 (c)	 fgekpy çns'k 
	 (d)	 mÙkjk[kaM 

	43-	fuEufyf[kr fdyksa ij fopkj dhft;s% 

	 1-	 mn;fxfj fdyk 
	 2-	 xwVh fdyk 
	 3-	 isuqxksaM+k fdyk 
	 4-	 paæfxfj fdyk 

	 	mi;ZqDr esa ls fdrus fdys vkaèkz çns'k esa fLFkr gS\ 

	 (a)	 dsoy ,d	 (b)	 dsoy nks 
	 (c)	 dsoy rhu 	 (d)	 lHkh pkj 

	44-	fcgku esyk ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g vle dh dksaèk tutkfr }kjk euk;k tkrk gSA 
	 2-	 ;g ijaijkxr Lons'kh cht laj{k.k ls lacafèkr ,d 

mRlo gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] uk gh 2 

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 3 only	 (d)	 1 , 2 and 3

	 41.	 Consider the following information:

UNESCO World 
Heritage Sites in 

India

State Description

1. Churches and 
Convents

Goa Center of 
Christian 
preaching in 
Asia

2. Ellora Caves Maha-
rashtra

Hindu, Bud-
dhist and 
Jain archi-
tecture

3. Ramappa Temple Karna-
taka

Belonging to 
the Kakatiya 
period

4. Pattadakal Group 
of Monuments

Kerala Belonging 
to the Chera 
dynasty

		  In which of the lines given above the information 
is correctly matched?

	 (a)	 1 and 2 	 (b)	 2 and 3 
	 (c)	 3 and 4 	 (d)	 1 and 4 

	 42.	 Valley of Flowers National Park is located in which 
of the following state/union territory?

	 (a)	 Jammu and Kashmir
	 (b)	 Ladakh
	 (c)	 Himachal Pradesh
	 (d)	 Uttarakhand

	 43.	 Consider the following forts:
	 1.	 Udayagiri Fort
	 2.	 Gooty Fort
	 3.	 Penukonda Fort
	 4.	 Chandragiri Fort

		  How many of the above forts are located in Andhra 
Pradesh?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 Only three	 (d)	 All four

	 44.	 With reference to Bihan Mela, consider the 
following statements:

	 1.	 It is celebrated by the Kondh tribe of Assam.
	 2.	 It is a festival related to traditional indigenous 

seed preservation.

		  Which of the statements given above is/are correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	45-	fuEufyf[kr ;qXeksa ij fopkj dhft;s% 

yksdu`R; lacafèkr tutkfr
1. fj[ke ikMk fu'kh
2. ckx#Eck cksMks
3. v'kjkbZ vksMks ekvks

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d 	 (b)	 dsoy nks 

	 (c)	 lHkh rhu 	 (d)	 dksbZ ugha 

	46-	fuEufyf[kr dFkuksa ij fopkj dhft;s% 

		 dFku&I% �Hkkjr ghVoso ds çfr vR;fèkd laosnu'khy 

ns'k gSA

	 	dFku&II% Hkkjr ,d m".kdfVcaèkh; ns'k gSA

	 	mi;ZqDr dFkuksa ds ckjs esa] fuEufyf[kr esa ls dkSu&lk 

,d lgh gS\ 

	 (a)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh lgh O;k[;k gSA

	 (b)	 dFku&I vkSj dFku&II nksuksa lgh gSa rFkk dFku&II] 
dFku&I dh lgh O;k[;k ugha gSA

	 (c)	 dFku&I lgh gS vkSj dFku&II xyr gSA
	 (d)	 dFku&I xyr gS vkSj dFku&II lgh gSA 

	47-	lksok fjXik ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1-	 ;g nf{k.k Hkkjrh; jkT;ksa esa çpfyr ,d ikjaifjd 

fpfdRlk i¼fr gSA

	 2-	 bls Hkkjr esa fofèkd ekU;rk çkIr gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] uk gh 2 

	48-	Hkkjrh; [kk| fuxe ds lanHkZ esa fuEufyf[kr dFkuksa esa 

ls dkSu&lk lgh ugh gS\ 

	 (a)	 ;g ,d oSèkkfud fudk; gSA

	 (b)	 bldh LFkkiuk 1964 esa dh x;h FkhA

	 (c)	 ;g dsaæh; Ñf"k ea=kky; ds varxZr dk;Z djrk gSA

	 (d)	 ;g Ñf"k ck”kkj fLFkjhdj.k esa egÙoiw.kZ Hkwfedk 

fuHkkrk gSA

	49-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjr esa Lo.kZ v;Ld dk lcls o`gn~ lalkèku 

fcgkj esa gSA

	 2-	 Hkkjr esa Lo.kZ dk lcls cM+k mRiknd jkT; 

dukZVd gSA

	 45.	 Consider the following pairs:

Folk dances Related tribes
1. Rikham Pada Nyishi
2. Bagurumba Bodo
3. Ashrai Odo Mao

		  How many of the above pairs are correctly 
matched?

	 (a)	 One only 	 (b)	 Only two
	 (c)	 All three 	 (d)	 None

	 46.	 Consider the following statements:
	 	 Statement-I: �India is a country highly vulnerable 

to heatwaves.
	 	 Statement-II: India is a tropical country.
		  Regarding the above statements, which one of the 

following is correct?
	 (a)	 Both Statement-I and Statement-II are correct 

and Statement-II is the correct explanation of 
Statement-I.

	 (b)	 Both Statement-I and Statement-II are 
correct and Statement-II is not the correct 
explanation of Statement-I.

	 (c)	 Statement-I is correct and Statement-II is 
wrong.

	 (d)	 Statement-I is wrong and Statement-II is 
correct.

	 47.	 With reference to Sowa Rigpa, consider the 
following statements:

	 1.	 It is a traditional system of medicine 
prevalent in South Indian states.

	 2.	 It is legally recognized in India.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 48.	 Which of the following statements is not correct 
with reference to the Food Corporation of India?

	 (a)	 It is a statutory body.
	 (b)	 It was established in 1964.
	 (c)	 It functions under the Union Ministry of 

Agriculture.
	 (d)	 It plays an important role in agricultural 

market stabilization.

	 49.	 Consider the following statements:
	 1.	 The largest resource of gold ore in India is in 

Bihar.
	 2.	 The largest gold producing state in India is 

Karnataka.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] uk gh 2 

	50-	Hkkjr esa pkoy mRiknd çeq[k jkT;ksa dk lgh vojksgh 

Øe fuEufyf[kr esa ls dkSu&lk gS\ 

	 (a)	 mÙkj çns'k&if'pe caxky&iatkc&gfj;k.kk 

	 (b)	 if'pe caxky&mÙkj çns'k&iatkc&gfj;k.kk 

	 (c)	 mÙkj çns'k&iatkc&gfj;k.kk&if'pe caxky 

	 (d)	 iatkc&gfj;k.kk&if'pe caxky&mÙkj çns'k

	51-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 	dFku I% �Hkkjr esa mPp f'k{kk ij jktuhfrd çHkko 

vfèkd gSA

	 	dFku II% �Hkkjr esa mPp f'k{kk laLFkku jktuhfrd vkèkkj 

ds :i esa ç;ksx fd;s tkrs gaSA

	 	dFku III% �Hkkjr esa mPp f'k{kk laLFkkuksa dh foÙkh; 

fuHkZjrk çeq[k :i ls ljdkjh fufèk;ksa ij gSA

	 	mi;ZqDr dFkuksa ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk 

lgh gS\

	 (a)	 dFku&II vkSj dFku&III nksuksa lgh gSa rFkk nksuksa] 

dFku&I dh lgh O;k[;k djrs gaS

	 (b)	 dFku&II vkSj dFku&III nksuksa lgh gSa] fdarq mueas 

ls dsoy ,d] dFku&I dh lgh O;k[;k djrk gS

	 (c)	 dFku&II vkSj dFku&III esa ls dsoy ,d lgh gS 

vkSj og dFku&I dh O;k[;k djrk gS

	 (d)	 u rks dFku&II] u gh dFku&III lgh gSa 

	52-	fuEufyf[kr ;qXeksa ij fopkj dhft;s% 

çeq[k laLFkku LFkkiuk o"kZ
1. fo'ofo|ky; vuqnku vk;ksx 1956
2. vf[ky Hkkjrh; rduhdh 

f'k{kk ifj"kn
1987

3. okLrqdyk ifj"kn 1972

mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\ 

	 (a)	 dsoy ,d 	 (b)	dsoy nks 

	 (c)	 lHkh rhu 	 (d)	dksbZ ugha 

	53-	Hkkjrh; pquko ç.kkyh esa ^buesa ls dksbZ ugh (NOTA)* 

ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s% 

	 1-	 pqukoh çfØ;k esa bldk dkuwuh çHkko 'kwU; gSA 

	 2-	 bls Hkkjr esa loZçFke 2014 ds vke pqukoksa ds 

nkSjku çLrqr fd;k x;k FkkA 

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 50.	 Which one of the following is the correct 
descending order of the major rice producing states 
in India?

	 (a)	 Uttar Pradesh-West Bengal-Punjab-Haryana
	 (b)	 West Bengal-Uttar Pradesh-Punjab-Haryana
	 (c)	 Uttar Pradesh-Punjab-Haryana-West Bengal
	 (d)	 Punjab-Haryana-West Bengal-Uttar Pradesh

	 51.	 Consider the following statements:
		  Statement I: �Political influence on higher 

education in India is high.
		  Statement II: �Higher education institutions in 

India are used as political base.
		  Statement III: �The financial dependence of higher 

education institutions in India is 
mainly on government funds.

		  Which of the following is correct with respect to 
the above statements?

	 (a)	 Both Statement-II and Statement-III are 
correct and both correctly explain Statement-I

	 (b)	 Both Statement-II and Statement-III are 
correct, but only one of them correctly 
explains Statement-I

	 (c)	 Only one of Statement-II and Statement-III 
is correct and it explains Statement-I

	 (d)	 Neither Statement-II nor Statement-III are 
correct

	 52.	 Consider the following pairs:

Major Institutions
Year of 

establishment
1. University Grants 

Commission
1956

2. All India Council for 
Technical Education

1987

3. Council of Architecture 1972
How many of the above pairs are correctly 
matched?

	 (a)	 Only one	 (b)	 Only two
	 (c)	 All three	 (d)	 None

	 53.	 With reference to ‘None of the Above (NOTA)’ in 
Indian electoral system, consider the following 
statements:

	 1.	 It has no legal effect in the electoral process.
	 2.	 It was first introduced in India during the 

2014 general elections.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1] u gh 2

	54-	tyok;q ifjorZu 'keu gsrq Hkkjr dh çfrc¼rk ds lanHkZ 
esa] fuEufyf[kr dFkuksa ij fopkj dhft;s% 

	 1-	 Hkkjr }kjk 2030 rd xSj&thok'e b±èku ÅtkZ 
{kerk dks 300 xhxkokV rd c<+kus dk y{; j[kk 
x;k gSA

	 2-	 Hkkjr us o"kZ 2070 rd 'kwU; dkcZu mRltZu dk 
y{; j[kk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1] u gh 2

	55-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 	dFku I% �Hkkjr esa egÙoiw.kZ [kfutksa dh ekax esa vR;fèkd 
o`f¼ ntZ dh xbZ gSA

	 	dFku II% �gky ds o"kks± esa LoPN ÅtkZ çkS|ksfxfd;ksa esa 
egÙoiw.kZ cnyko gqvk gSA

	 	dFku III% �Hkkjr esa ?kjsyw bysDVªkWfud okgu ck”kkj 
pØo`f¼ :i ls c<+ jgk gSA

	 	mi;ZqDr dFkuksa ds lacaèk esa] fuEufyf[kr esa ls dkSu&lk 
lgh gS\

	 (a)	 dFku&II vkSj dFku&III nksuksa lgh gSa rFkk nksuksa] 
dFku&I dh lgh O;k[;k djrs gSa

	 (b)	 dFku&II vkSj dFku&III nksuksa lgh gSa] fdarq mueas 
ls dsoy ,d] dFku&I dh lgh O;k[;k djrk gS

	 (c)	 dFku&II vkSj dFku&III esa ls dsoy ,d lgh gS 
vkSj og dFku&I dh O;k[;k djrk gS

	 (d)	 u rks dFku&II] u gh dFku&III lgh gSa

	56-	fuEufyf[kr {ks=kksa esa ls ,d fr;ku'kku ioZrekyk ds 
nf{k.k esa gS vkSj dquyqu ioZrekyk ds mÙkj esa gSA ;g 
çkphu flYd ekxZ dks prqfnZd vkokxeu dh lqfoèkk 
çnku djrk FkkA fuEufyf[kr esa ls dkSu&lk ,d ml 
{ks=k dks |ksfrr djrk gS\ 

	 (a)	 rkfje csflu 	 (b)	tqaxxj csflu 
	 (c)	 flpqvku csflu	 (d)	dSne csflu 

	57-	fuEufyf[kr ns'kksa ij fopkj dhft;s% 

	 1-	 la;qDr vjc vehjkr 
	 2-	 dqoSr 
	 3-	 vkseku 
	 4-	 bZjku 
	 5-	 cgjhu 

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 54.	 With reference to India's commitment to climate 
change mitigation, consider the following 
statements:

	 1.	 India aims to add non-fossil fuel power 
capacity to 300 GW by 2030.

	 2.	 India aims to achieve zero carbon emissions 
by 2070.

		  Which of the statements given above is/are correct? 
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2  	 (d)	 Neither 1 nor 2

	 55.	 Consider the following statements:
		  Statement I: �India has witnessed tremendous 

growth in the demand for critical 
minerals.

		  Statement II: �There has been a significant shift in 
clean energy technologies in recent 
years.

		  Statement III: �The domestic electric vehicle 
market in India is growing at a 
compounding rate.

		  Which of the following is correct with respect to 
the above statements?

	 (a)	 Both Statement-II and Statement-III are 
correct and both correctly explain Statement-I

	 (b)	 Both Statement-II and Statement-III are 
correct, but only one of them correctly 
explains Statement-I

	 (c)	 Only one of Statement-II and Statement-III 
is correct and it explains Statement-I

	 (d)	 Neither Statement-II nor Statement-III are 
correct

	 56.	 One of the following regions lying south of the 
Tianshan Range and north of the Kunlun Range 
provided round-trip traffic to the ancient Silk Road. 
Which one of the following represents that region?

	 (a)	 Tarim Basin	 (b)	 Junggar Basin
	 (c)	 Sichuan Basin	 (d)	 Qaidam Basin

	 57.	 Consider the following countries:
	 1.	 United Arab Emirates
	 2.	 Kuwait
	 3.	 Oman
	 4.	 Iran
	 5.	 Bahrain



Copyright –  Drishti The Vision Foundation

15
eSx”khu VsLV 

(Magazine Test)

641] çFke ry] 

eq[kthZ uxj] 

fnYyh&110009

21] iwlk jksM] 
djksy ckx]  
ubZ fnYyh

13/15] rk'kdan ekxZ] 
fudV if=kdk pkSjkgk] 

flfoy ykbUl] iz;kxjkt

IykWV uacj&45 o 45-A g"kZ 

Vkoj&2] esu Vksad jksM] 
olqaèkjk dkWyksuh] t;iqj

47/CC] cfy±xVu 
vkdsZM ekWy] foèkkulHkk 

ekxZ] y[kumQ

12] esu ,-ch- jksM]  
Hk¡oj dqvk¡]  

bankSj] eè; izns'k

Phone: 8750187501 :: www.drishtiIAS.com

	 	mi;ZqDr esa ls fdrus ns'k [kkM+h lg;ksx ifj"kn ds lnL; 
gSa\ 

	 (a)	 dsoy nks 	 (b)	dsoy rhu 
	 (c)	 	dsoy pkj 	 (d)	lHkh ik¡p 

	58-	fo'o 'kj.kkFkhZ fnol] fuEufyf[kr fdl frfFk dks euk;k 
tkrk gS\ 

	 (a)	 29 ebZ	 (b)	11 twu
	 (c)	 20 twu	 (d)	29 twu

	59-	^”kgjhyh 'kjkc* ds lanHkZ esa] fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g 'kjkc dh ek=kk ,oa u'ks dh rhozrk o`f¼ gsrq 
esFksukWy ds feJ.k ls rS;kj dh tkrh gSA

	 2-	 ;g 'kjhj dh esVkcksfyd çfØ;k esa vR;fèkd 
vEy fuekZ.k dks c<+kok nsrh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	60-	Hkkjr esa GM iQlyksa ds mi;ksx ls lacafèkr] fuEufyf[kr 
dFkuksa ij fopkj dhft;s% 

	 1-	 GM iQlyksa dh [ksrh ls lacafèkr ewY;kadu ,oa 
vuqeksnu dk nkf;Ro tsusfVd bathfu;fjax ewY;kadu 
lfefr dks çkIr gSA

	 2-	 GM [kk| inkFkZ] Hkkjrh; [kk| laj{kk ,oa 
fofu;ked çkfèkdj.k (FSSAI) ds vèkhu gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 
	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

	61-	oSf'od Lrj ij xzhugkml xSlksa ds mRltZu vkSj muds 
dkj.kksa dk irk yxkus gsrq Xykscy dkcZu çkstsDV (GCP) 
dh LFkkiuk dc dh xbZ\

	 (a)	 1996 	 (b)	 2001 
	 (c)	 2008	 (d)	 2011

	62-	fuEufyf[kr ufn;ksa ij fopkj dhft;s%
	 1-	 Hkjriq>k	 2-	us=korh
	 3-	 'kjkorh	 4-	gseorh
	 5-	 dkfcuh

	 	mi;ZqDr esa ls fdruh if'pe çokgh ufn;k¡ gSa\
	 (a)	 dsoy nks 	 (b)	 dsoy rhu 
	 (c)	 dsoy pkj 	 (d)	 lHkh ik¡p

	63-	xzsV fudksckj vkbySaM çkstsDV ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s% 

	 1-	 ;g vaMeku ,oa fudksckj }hi lewgksa ds nf{k.kh 
Hkkx gsrq ykxw dh xbZ ,d volajpukRed fodkl 
;kstuk gSA

	 2-	 ;g ifj;kstuk uhfr vk;ksx dh fjiksVZ ds vkèkkj 
ij o"kZ 2018 esa çkjaHk dh xbZ FkhA 

			  How many of the above countries are members of 
the Gulf Cooperation Council?

	 (a)	 Only two 	 (b)	 Only three 
	 (c)		 All four 	 (d)	 All five 

	 58.	 World Refugee Day is celebrated on which of the 
following dates?

	 (a)	 29 May	 (b)	 11 June
	 (c)	 20 June	 (d)	 29 June

	 59.	 With reference to ‘poisonous liquor’, consider the 
following statements:

	 1.	 It is prepared by mixing methanol to increase 
the quantity of liquor and the intensity of 
intoxication.

	 2.	 It promotes excessive acid formation in the 
metabolic process of the body.

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 60.	 Consider the following statements regarding the 
use of GM crops in India:

	 1.	 The Genetic Engineering Appraisal 
Committee is responsible for the evaluation 
and approval of the cultivation of GM crops.

	 2.	 GM food is under the Food Safety and 
Standards Authority of India (FSSAI).

		  Which of the statements given above is/are correct? 
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2  	 (d)	 Neither 1 nor 2

	 61.	 When was the Global Carbon Project (GCP) 
established to trace greenhouse gas emissions and 
their causes at the global level?

	 (a)	 1996 	 (b)	 2001 
	 (c)	 2008	 (d)	 2011

	 62.	 Consider the following rivers:
	 1.	 Bharatapuzha	 2.	 Netravati
	 3.	 Sharavati	 4.	 Hemavati
	 5.	 Kabini

		  How many of the above are west flowing rivers?
	 (a)	 Only two 	 (b)	 Only three 
	 (c)	 All four 	 (d)	 All five

	 63.	 With reference to the Great Nicobar Island Project, 
consider the following statements:

	 1.	 It is an infrastructure development scheme 
implemented for the southern part of the 
Andaman and Nicobar Islands.

	 2.	 The project was launched in 2018 based on 
the report of NITI Aayog.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

	64-	foaM 'kh;j ifj?kVuk ds lanHkZ esa] fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 ;g gok dh xfr ,oa fn'kk esa vkdfLed ifjorZuksa 
dks lanfHkZr djrh gSA

	 2-	 ;g vis{kkÑr de nwjh esa laiUu gksus okyh 
ifj?kVuk gSA

	 3-	 BaMh ,oa xeZ ok;qjkf'k;ksa ds laidZ LFky blds gsrq 
vuqdwy n'kkvksa dk fuekZ.k djrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3 
	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3

	65-	gky gh esa] fuEufyf[kr esa ls dkSu&lh ifjogu ç.kkyh 
o"kkZ ty lap;u gsrq vius foLrkj {ks=k esa 900 o"kkZ 
ty lap;u xM~<ksa ds fuekZ.k ds dkj.k ppkZ esa Fkh\ 

	 (a)	 fnYyh esVªks 
	 (b)	 fnYyh&esjB jhtuy jSfiM VªkaftV flLVe 
	 (c)	 Hkkjrh; jsyos 
	 (d)	 dksydkrk esVªks

	66-	gky gh esa] ppkZ esa jgs gqaxk&Vksaxk&gw¡xk&gkikbZ Tokykeq[kh 
çLiQqVu ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g ,d var%leqæh Tokykeq[kh gSA
	 2-	 ;g nf{k.kh vVykafVd egklkxj esa fLFkr gSA
	 3-	 blds çLiQqVu ls lerki eaMy esa egÙoiw.kZ 

ifjorZu gqvkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	 dsoy 2 vkSj 3 
	 (c)	 dsoy 1 vkSj 3 	 (d)	 1] 2 vkSj 3

	67-	gky gh esa] fuEufyf[kr fdl oSf'od laLFkku }kjk gfjr 
,tqds'ku lg;ksx ds varxZr xzhfuax dfjdqye xkbMsal 
(GCG) ,oa xzhu Ldwy DokkWfyVh LVSaMM~lZ (GSQS) 
uked vfHk;ku çkjaHk fd;s x, gSa\

	 (a)	 la;qDr jk"Vª fodkl dk;ZØe 
	 (b)	 ;wusLdks 
	 (c)	 fo'o vkfFkZd eap 
	 (d)	 fo'o cSad

	68-	fo:ik{k eafnj fuEufyf[kr fdl lkezkT; ls lacafèkr gS\
	 (a)	 fot;uxj lkezkT; 
	 (b)	 pksy lkezkT; 
	 (c)	 pkyqD; lkezkT; 
	 (d)	 iYyo lkezkT; 

 		  Which of the statements given above is/are correct? 
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2  	 (d)	 Neither 1 nor 2

	 64.	 With reference to the wind shear phenomenon, 
consider the following statements:

	 1.	 It refers to sudden changes in wind speed and 
direction.

	 2.	 It is a phenomenon that occurs over a 
relatively short distance.

	 3.	 The points of contact between cold and warm 
air masses create favourable conditions for 
it.

		  Which of the statements given above is/are correct?
	 (a)	 Only 1 and 2 	 (b)	 Only 2 and 3 
	 (c)	 Only 3 	 (d)	 1, 2 and 3

	 65.	 Recently, which of the following transport systems 
was in news for constructing 900 rainwater 
harvesting pits across its stretch?

	 (a)	 Delhi Metro
	 (b)	 Delhi-Meerut Regional Rapid Transit 

System
	 (c)	 Indian Railways
	 (d)	 Kolkata Metro

	 66.	 With reference to the recent eruption of Hunga-
Tonga-Hunga-Ha'apai volcano, consider the 
following statements:

	 1.	 It is an underwater volcano.
	 2.	 It is located in the South Atlantic Ocean.
	 3.	 Its eruption caused significant changes in the 

stratosphere.

		  Which of the statements given above is/are correct?
	 (a)	 Only 1 	 (b)	 Only 2 and 3 
	 (c)	 Only 1 and 3 	 (d)	 1, 2 and 3

	 67.	 Recently, which of the following global institutions 
has launched campaigns called Greening 
Curriculum Guidance (GCG) and Green School 
Quality Standards (GSQS) under the Green 
Education Collaboration?

	 (a)	 United Nations Development Programme
	 (b)	 UNESCO
	 (c)	 World Economic Forum
	 (d)	 World Bank

	 68.	 Virupaksha Temple is related to which of the 
following empires?

	 (a)	 Vijayanagara Empire 
	 (b)	 Chola Empire 
	 (c)	 Chalukya Empire 
	 (d)	 Pallava Empire
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	69-	fcjlk eqaMk ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s% 

	 1-	 myxqyku vkanksyu ds vk;kstu ds iwoZ og ljnkjh 
vkanksyu ls lacafèkr FksA 

	 2-	 mUgksaus fcjlkbZy laçnk; dh LFkkiuk dh FkhA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1 	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

	70-	Hkkjr ds lanHkZ esa] Lekb¯yx cq¼k ,oa vkWijs'ku 'kfDr] 
fuEufyf[kr fdl ?kVuk ls lacafèkr gaS\

	 (a)	 Hkkjr&phu la?k"kZ
	 (b)	 ijek.kq ijh{k.k
	 (c)	 vkfFkZd lqèkkj mik; ykxw djuk 
	 (d)	 la?k"kZjr~ {ks=kksa ls Hkkjrh; ukxfjdksa dks fudkyuk

	71.	la;qDr jk"Vª lrr~ fodkl fjiksVZ] 2024 ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s% 

	 1.	 ;g ;wusLdks (UNESCO) }kjk tkjh dh tkrh gSA
	 2.	 SDG 9 (m|ksx] uokpkj vkSj cqfu;knh <k¡pk) dh 

fn'kk esa Hkkjr loksZÙke xfr ls dk;Zjr gSA
	 3.	 bl fjiksVZ esa Hkkjr dh jSad 64 vadksa ds lkFk 109osa 

LFkku ij gSA

	 	mi;ZqDr dFkuksa esa dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 1 vkSj 2

	72.	egklkxj fLFkfr fjiksVZ] 2024 ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g fjiksVZ UNCLOS (;wukbVsM us'kal dUosa'kal 
vkWu n ykW vkWiQ lht) ds }kjk fuxZfer dh xbZ gSA

	 2.	 lHkh egklkxjh; csfluk s a rFkk egklkxjk s a 
ds vEyh;dj.k esa oSf'od Lrj ij vkSlr o`f¼ 
gqbZ gSA

	 3.	 leqnzh tyLrj lrr~ :i ls yxHkx 3.4 feeh- 
izfro"kZ dh nj ls c<+k gSA

	 	mi;ZqDr dFkuksa esa fdrus lR; gS@gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 lHkh rhu	 (d)	 dksbZ ugha

	73.	,LVksfu;k ns'k 2024 esa fo'ks"k :i ls ppkZ esa jgk] eq[; 
:i ls bldk dkj.k gS%

	 (a)	 :l ds lkFk rukoiw.kZ lacaèk
	 (b)	 NATO dh lnL;rk xzg.k djuk
	 (c)	 i;kZoj.k izn'kZu lwpdkad] 2024 'kh"kZ LFkku
	 (d)	 lhekikj iznw"k.k dk lcls cM+k mRltZd gksuk

	 69.	 With reference to Birsa Munda, consider the 
following statements:

	 1.	 Before organizing the Ulgulan movement, he 
was associated with the Sardari movement.

	 2.	 He founded the Birsait sect.

		  Which of the statements given above is/are correct? 
	 (a)	 Only 1 	 (b)	 Only 2 
	 (c)	 Both 1 and 2  	 (d)	 Neither 1 nor 2

	 70.	 In the context of India, Smiling Buddha and 
Operation Shakti are related to which of the 
following events?

	 (a)	 India-China conflict
	 (b)	 Nuclear testing
	 (c)	 Implementation of economic reform 

measures
	 (d)	 Evacuation of Indian citizens from conflict 

areas

	 71.	 Consider the following statements with reference 
to the United Nations Sustainable Development 
Report 2024:

	 1. 	 It is published by UNESCO.
	 2. 	 India is working at the best pace towards SDG 

9 (Industry, Innovation and Infrastructure).
	 3. 	 India is ranked 109th with 64 points in this 

report.

		  Which of the statements given above is/are not 
correct?

	 (a)	 Only 1	 (b) 	Only 2
	 (c)	 Only 2 and 3 	 (d) 	Only 1 and 2

	 72.	 Consider the following statements with reference 
to the State of the Ocean Report, 2024:

	 1.	 This report is published by UNCLOS (United 
Nations Convention on the Law of the Seas).

	 2.	 There has been a average global increase in 
acidification of all ocean basins and oceans.

	 3.	 Sea level has risen continuously at a rate of 
about 3.4 mm per year.

		  How many of the above statements are correct?
	 (a) 	 Only one 	 (b) 	Only Two
	 (c) 	 All three 	 (d) 	None

	 73. 	The country of Estonia has been in the news in 
2024, mainly because of:

	 (a) 	 Strained relations with Russia
	 (b) 	 To become a member of NATO
	 (c)		 Getting the top rank the Environmental 

Performance Index 2024
	 (d)	 Being the largest emitter of transboundary 

pollution
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	74.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

canjxkg LFkku (ns'k)
1. ;k¡x'kku tkiku
2. lykykg vkseku
3. dkVkZtsuk dksfj;k
4. eqanzk Hkkjr

	 	mi;ZqDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\

	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 dsoy rhu	 (d)	 lHkh pkj

	75.	gky gh esa fo'o vkfFkZd eap }kjk tkjh oSf'od ySafxd 
varjky fjiksVZ] 2024 ds lacaèk esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 blesa Hkkjr dk LFkku 129ok¡ gSA
	 2.	 ;g fjiksVZ pkj mi&lwpdkadksa ij vkèkkfjr gS 

rFkk lexz lwpdkad 0 ls 1 ds chp Ldksj iznku 
djrk gSA

	 3.	 vkblySaM yxkrkj 15osa o"kZ fo'o dk lcls vfèkd 
ySafxd lekurk okyk ns'k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls xyr gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1, 2 vkSj 3	 (d)	 dksbZ ugha

	76.	jk"Vªh; vUos"k.k vfHkdj.k (NIA) ds lwphc¼ vijkèk 
fuEufyf[kr esa ls fdl dkuwu@fdu dkuwuksa ls 'kfDr;k¡ 
izkIr djrs gSa\

	 1.	 ijek.kq mQtkZ vfèkfu;e] 1962
	 2.	 èku 'kksèku fuokj.k vfèkfu;e] 2002
	 3.	 xSj&dkuwuh xfrfofèk;k¡ jksdFkke vfèkfu;e] 1967

	 	dwV%
	 (a)	 dsoy 1	 (b)	 dsoy 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 dsoy 2 vkSj 3

	77.	vaVkdZfVd lafèk ds lacaèk esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 vaVkdZfVd lafèk ,dek=k ,dy lafèk dk mnkgj.k 
gS] tks iwjs egk}hi dks fu;af=kr djrh gSA

	 2.	 vaVkdZfVdk dks 60°S v{kka'k ds nf{k.k esa fLFkr 
ciZQ ls vkPNkfnr Hkwfe ds :i esa ifjHkkf"kr fd;k 
x;k gSA

	 3.	 Hkkjr bl lafèk dk 1926 ls lnL; gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3
	 (d)	 1, 2 ,oa 3

	 74.	 Consider the following pairs:	
Port Location (country)

1. Yangshan Japan
2. Salalah Oman
3. Cartagena Korea
4. Mundra India

		  Which of the pairs given above is/are correctly 
matched?

	 (a) 	 Only one 	 (b) 	Only Two
	 (c) 	 Only three 	 (d) 	All four

	 75. 	Consider the following statements regarding the 
Global Gender Gap Report, 2024 released recently 
by the World Economic Forum:

	 1. 	 India ranks 129th in this.
	 2. 	 This report is based on four sub-indices and 

the combined index provides a score between 
0 to 1.

	 3. 	 Iceland is the most gender equal country in 
the world for the 15th consecutive year.

		  Which of the above statements is/are incorrect?
	 (a) 	 Only 1 	 (b) 	Only 2
	 (c) 	 1, 2 and 3 	 (d) 	None

	 76.	 The listed offences of the National Investigation 
Agency (NIA) derive their powers from which of 
the following law(s)?

	 1. 	 The Atomic Energy Act, 1962
	 2. 	 Prevention of Money Laundering Act, 2002
	 3. 	 Unlawful Activities (Prevention) Act, 1967

		  Code:
	 (a) 	 Only 1 	 (b) 	Only 3
	 (c) 	 Only 1 and 3 	 (d) 	Only 2 and 3

	 77. 	Consider the following statements regarding the 
Antarctic Treaty:

	 1. 	 The Antarctic Treaty is the only example of a 
single treaty that governs an entire continent.

	 2. 	 Antarctica is defined as the ice-covered land 
located south of 60°S latitude.

	 3. 	 India is a member of this treaty since 1926.

		  Which of the statements given above is/are correct?
	 (a) 	 Only 1 
	 (b) 	 Only 1 and 2
	 (c) 	 Only 2 and 3 
	 (d) 	 1, 2 and 3
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	78.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 gaih Lekjd ;wusLdks dh fo'o èkjksgj dh lwph esa 

'kkfey gSaA
	 2.	 Hkkjrh; iqjkrÙo losZ{k.k (ASI), 2024 esa fo:ik{k 

eafnj ds <g pqds lkyw earik ds th.kksZ¼kj dk 
dk;Z 'kq: djsxkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	79.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 phu }kjk csYV ,sM jksM+ (BRI) bfuf'k,fVo 2013 

esa izkjaHk fd;k x;kA
	 2.	 BRI ,d volajpuk fodkl ;kstuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls xyr dFku gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	80.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

LFkku@LFky ns'k@jk"Vª
1. tksYiQk bZjku
2. oksY[kkso unh vts±VhZuk
3. djhck >hy ¯tckCos
4. ekmaV dkuykvksu fiQyhihal

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\
	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 dsoy rhu	 (d)	 lHkh pkj

	81.	fn;s x, dFkuksa] tks fp=kdyk ls lacafèkr gSa] ij fopkj 
dhft;s%

	 1.	 ;g if'peh ?kkV ds lehi fodflr gqbZ gSA
	 2.	 blesa feV~Vh dh nhokjksa ij lisQn jax ls fp=k.k 

,oa yky&ihys jax dk iz;ksx fd;k tkrk gSA
	 3.	 ;g ,d tutkrh; isafVax gSA
	 4.	 bldk lacaèk rjik u`R; ls gSA

	 	;g fuEufyf[kr esa ls dkSu&lh fp=kdyk 'kSyh gS\
	 (a)	 fipobZ isafVax	 (b)	 dkyh?kkV isafVax
	 (c)	 ojyh isafVax	 (d)	 cw¡nh isafVax

	82.	Hkkjr esa tSfod Ñf"k ls lacafèkr fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 jk"Vªh; tSfod mRiknu dk;ZØe (NPOP) dks o"kZ 
2001 esa pkyw fd;k x;k FkkA

	 2.	 mRiknu izek.khdj.k lgHkkxh xkjaVh iz.kkyh (PGS) 
dk;ZØe o"kZ 2011 esa pkyw fd;k x;kA

	 3.	 Hkkjr esa eè; izns'k tSfod Ñf"k {ks=k esa vxz.kh 
jkT; gS tgk¡ fujarj mRiknu o`f¼ ntZ dh xbZ gSA

	 78. 	Consider the following statements:
	 1. 	 Hampi monuments are included in the 

UNESCO World Heritage list.
	 2. 	 The Archaeological Survey of India (ASI) 

will begin restoration work of the collapsed 
Salu Mantapa of the Virupaksha Temple in 
2024.

		  Which of the statements given above is/are correct?
	 (a) 	 Only 1 	 (b) 	Only 2
	 (c) 	 1 And 2 Both 	 (d) 	Neither 1 nor 2

	 79. 	Consider the following statements:
	 1. 	 Belt and Road intiative was started by China 

in 2013.
	 2. 	 It is an infrastructure development 

programme

		  Which of the statements given above is/are 
incorrect?

	 (a) 	 Only 1 	 (b) 	Only 2
	 (c) 	 1 and 2 Both 	 (d) 	Neither 1 nor 2

	 80. 	Consider the following pairs:

Location/Region Country/Nation
1. Jolfa Iran
2. Volkhov River Argentina
3. Lake Kariba Zimbabwe
4. Mount Kanlaon Philippines

		  How many of the above pairs are correctly 
matched?

	 (a) 	 Only one 	 (b) 	Only two
	 (c) 	 Only three 	 (d) 	All four

	 81. 	Consider the given statements related to painting.
	 1. 	 It originated near the Western Ghats.
	 2. 	 In this, white colour is painted on the mud 

walls and red and yellow colours are used.
	 3. 	 It is a tribal painting.
	 4. 	 It is related to Tarpa dance.

		  It is which of the following painting style?
	 (a) 	 Pichwai Painting 	 (b) 	Kalighat Painting
	 (c) 	 Warli Painting 	 (d) 	Bundi Painting

	 82. 	Consider the following statements related to 
organic farming in India:

	 1. 	 National Programme for Organic Production 
(NPOP) was launched in 2001.

	 2. 	 Production Certification Participatory 
Guarantee System (PGS) programme was 
launched in the year 2011.

	 3. 	 Madhya Pradesh is the leading state in organic 
farming sector in India where continuous 
production increase has been recorded.
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	 	mi;qZDr dFkuksa eas ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 2	 (d)	 1] 2 vkSj 3

	83.	o"kZ 2023 esa Hkkjr esa Hkwty bdkb;ksa dh fLFkfr ls 
lacafèkr fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 o"kZ 2023 esa dqy ewY;kafdr Hkwty bdkb;ksa esa 
,d&pkSFkkbZ fØfVdy voLFkk esa gSaA

	 2.	 yxHkx 9% Hkwty bdkb;ka vfrnksfgr gSaA
	 3.	 o"kZ 2023 esa Hkkjr us Hkwty ij viuh fuHkZjrk dks 

de fd;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	84.	y?kq flapkbZ ;kstukvksa dks Hkwty ;k lrgh ty Js.kh esa 
mudh lajpukvksa ds :i esa ifjHkkf"kr fd;k tkrk gS 
ftudk Ñf"k ;ksX; dekaM {ks=k gS%

	 (a)	 0 ls 100 gsDVs;j rd
	 (b)	 0 ls 2000 gsDVs;j rd
	 (c)	 2000 ls 5000 gsDVs;j rd
	 (d)	 5000 ls 10000 gsDVs;j rd

	85.	^[kqYye* u`R; fuEufyf[kr esa ls fdl jkT; dh tutkfr 
ls lacafèkr gS\

	 (a)	 fe”kksje dh ^fetks* tutkfr
	 (b)	 es?kky; dh ^xkjks* tutkfr
	 (c)	 fe”kksje dh ^dqdh* tutkfr
	 (d)	 ukxkySaM dh ^vaxeh* tutkfr

	86.	^fgek;r* (Himayat) vkSj ̂ mEehn* (UMEED) ;kstuk 
fuEufyf[kr esa ls fdlls lacafèkr gS\

	 (a)	 Hkkjr esa vYila[;dksa ds fodkl ,oa lao¼Zu ls
	 (b)	 ;qokvksa ds ekufld fodkl ,oa LokLF; ls
	 (c)	 mÙkj&iwoZ esa tutkrh; fodkl ,oa iqu#RFkku ls
	 (d)	 tEew vkSj d'ehj esa lok±xh.k fodkl ,oa vkthfodk 

lsA

	87.	Hkkjrh; jsyos ls lacafèkr eq[; lfefr;k¡ ,oa mudh 
fliQkfj'kksa ls lacafèkr ;qXeksa ij fopkj dhft;s%

lfefr fliQkfj'ksa
1. dkdksndj lfefr 

(2012)
lkafofèkd jsyos lqj{kk 
izkfèkdj.k

2. jkds'k eksgu lfefr 
(2010)

tsusjyh ,DlsfIVM 
vdkmafVax ¯izfliYl 
(GAPP)

3. foosd nscjko lfefr 
(2014)

Hkkjrh; jsy volajpuk 
izkfèkdj.k

4. fouksn jk; lfefr 
(2015)

jsyos nq?kZVuk tk¡p cksMZ

		  Which of the statements given above is/are correct?
	 (a) 	 Only 1 	 (b) 	Only 2
	 (c) 	 Only 1 and 2 	 (d) 	1, 2 and 3
	 83. 	Consider the following statements related to the 

status of groundwater in India in the year 2023:
	 1. 	 One fourth of the total assessed ground water 

units are in critical state in the year 2023.
	 2. 	 About 9% ground water units are 

overexploited.
	 3. 	 In the year 2023, India has reduced its 

dependence on groundwater to some extent.
		  Which of the statements given above is/are correct?
	 (a) 	 Only 1 	 (b) 	Only 2 and 3
	 (c) 	 1 and 3 only 	 (d) 	1, 2 and 3
	 84. 	Minor irrigation schemes are defined as structures 

in the groundwater or surface water category 
having a cultivable command area of:

	 (a) 	 0 to 100 hectares
	 (b) 	 0 to 2000 Hectare 
	 (c) 	 2000 to 5000 hectares
	 (d) 	 5000 to 10000 hectares
	 85. 	'Khullam' dance belongs to the tribe of which of 

the following states?
	 (a)	 Mizo tribe of Mizoram' 
	 (b)	 'Garo' tribe of Meghalaya
	 (c)	 'Kuki' tribe of Mizoram
	 (d)	 'Angami' tribe of Nagaland
	 86.	 'Himayat' and ' UMEED' scheme is related to which 

of the following?
	 (a)	 Development and promotion of minorities in 

India
	 (b)	 Development of physical and mental health 

of youth
	 (c)	 Tribal development and rejuvenation in the 

North-East
	 (d)	 For overall development and generation of 

livelihood of women of Jammu and Kashmir.
	 87.	 Consider the following pairs related to the major 

committees and their recommendations related to 
Indian Railways:

Committee Recommendations
1. Kakodkar 

Committee 
(2012)

Statutory Railway 
Safety Authority

2. Rakesh Mohan 
Committee 
(2010)

Generally Accepted 
Accounting Principles 
(GAPP)

3. Vivek Debroy 
Committee(2014)

Indian Railway 
Infrastructure 
Authority

4. Vinod Rai 
Committee 
(2015)

Railway Accident 
Investigation Board
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		  Which of the following pairs is/are wrongly 
matched?

	 (a)	 Only 1 and 2 	 (b)	 Only 2 and 3
	 (c)	 Only 3 and 4 	 (d)	 None

	 88.	 The IT rules amended in April 2023 now include 
regulations related to online real money gaming 
(ORMG). The jurisdiction over the regulation of 
online gaming falls under:

	 (a)	 Central government only
	 (b)	 State government only
	 (c)	 Centre and State Both 	
	 (d)	 Reserve Bank of India

	 89.	 Consider the following pairs:

Agreement between India and 
USA

Year

1. General Security of Military 
Information Agreement 
(GSOMIA)

2002

2. Logistics Exchange 
Memorandum of Agreement 
(LEMOA)

2009

3. Communications Compatibility 
and Security Agreement 
(COMCASA)

2018

4. Basic Exchange and Co-
operation Agreement (BECA)

2020

		  Select the matched pair(s) from the above pairs :
	 (a)	 1, 2 and 3 	 (b) 	2, 3 and 4
	 (c)	 1, 2 and 4 	 (d) 	1, 3 And 4

	 90.	 Consider the following statements:
	 1.	 Indian International Arbitration Centre 

(IIAC) provides services for domestic and 
international disputes.

	 2.	 The Arbitration Act, 2023, empowers courts 
to refer disputes to arbitration.

		  Which of the above statement(s) is/are correct?
	 (a)	 Only 1	 (b)	 Only 2
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 91.	 'Saksham Bharat: Project Udbhav' was in the news 
recently. It is related to-

	 (a)	 Research and implementation of ancient 
war strategies being employed by the Indian 
Army

	 (b)	 Solving the problem of migration in Jammu 
and Kashmir

	 (c)	 Eliminating child labour
	 (d)	 Reducing the civil unrest in Manipur

	 	mi;qZDr ;qXeksa esa xyr ;qXe lqesfyr gS@gaS\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4	 (d)	 dksbZ ugha

	88.	vizSy 2023 esa cnys x, IT fu;e vc vkWuykbu jh;y 

euh xsfeax (ORMG) ls lacafèkr fofu;euksa dks 'kkfey 

djrs gSaA vkWuykbu xsfeax ds fofu;eu ij fdldk 

vfèkdkj gS\

	 (a)	 dsoy dsanz ljdkj

	 (b)	 dsoy jkT; ljdkj

	 (c)	 dsanz ,oa jkT; nksuksa

	 (d)	 fj”koZ cSad vkWiQ bafM;k

	89.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

Hkkjr ,oa ;w,l, ds eè; le>kSrk o"kZ
1. tujy flD;ksfjVh vkWiQ fefyVªh 

baiQkWesZ'ku ,xzhesaV (GSOMIA)
2002

2. ykWftfLVDl ,Dlpsat eseksjsaMe vkWiQ 
,xzhesaV (LEMOA)

2009

3. dE;qfuds'ku daisfVfcfyVh ,aM flD;ksfjVh 
,xzhesaV (COMCASA)

2018

4. csfld ,Dlpsat ,aM dks&vkWijs'ku 
,xzhesaV (BECA)

2020

	 	mi;qZDr ;qXeksa esa ls lqesfyr ;qXe@;qXeksa dk p;u dhft;s%

	 (a)	 1] 2 vkSj 3	 (b)	 2] 3 vkSj 4
	 (c)	 1] 2 vkSj 4	 (d)	 1, 3 vkSj 4

	90.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjrh; varjkZ"Vªh; eè;LFkrk dsanz (IIAC) ?kjsyw 
,oa varjkZ"Vªh; fooknksa gsrq lsok,¡ iznku djrk gSA

	 2.	 eè;LFkrk vfèkfu;e] 2023] U;k;ky;ksa dks fooknksa 

dks eè;LFkrk ds fy;s lanfHkZr djus dk vfèkdkj 

nsrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 u gh 2

	91.	^l{ke Hkkjr% izkstsDV mn~Hko* gky gh esa ppkZ esa FkkA 
;g lacafèkr gS&

	 (a)	 Hkkjrh; lsuk esa izkphu ;q¼ j.kuhfr ij 'kksèk ,oa 

fØ;kUo;u ls

	 (b)	 tEew vkSj d'ehj esa iyk;u dh leL;k dk lekèkku 

djus ls

	 (c)	 cky Je 'kwU; djus ls

	 (d)	 ef.kiqj esa py jgh v'kkafr de djus ls
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	 92. 	Lobito Corridor, Luzon Corridor and Middle 
Corridor, which were in news recently, are related 
to?

	 (a)	 Russia-China Agreement
	 (b)	 G-7 Meeting
	 (c)	 G-20 meeting
	 (d)	 European Green Deal

	 93.	 Consider the following statements regarding the 
Seismic in India zones:

	 1.	 Both Bhopal and Ahmedabad are located in 
the same zone.

	 2.	 Hyderabad and Jaipur are located in Zone II.
	 3.	 Srinagar and Meghalaya are located in Zone 

V.

		  Which of the statements given above is/are correct?
	 (a)	 Only 1 	 (b)	 Only 1 and 3
	 (c)	 Only 2 and 3 	 (d)	 1, 2 and 3

	 94.	 Consider the following statements regarding 
'Cosmic Ray Detector':

	 1.	 It is capable of strengthening the tsunami 
warning system.

	 2.	 It can help in giving tsunami related warnings 
up to 24 hours in advance.

	 3.	 Indian National Centre of Ocean Information 
Service (INCOIS), Hyderabad, India has 
already sucessfully operationalised this 
system.

		  How many of the above statements are correct?
	 (a)	 Only one 	 (b)	 Only Two
	 (c)	 Only three 	 (d)	 None

	 95.	 Consider the following statements with reference 
to 'Lightning'-

	 1.	 It is a natural process of high voltage 
'electrical discharge' occurring over a short 
period of time between the cloud and land or 
within the clouds.

	 2.	 Lightning occurring between a cloud and 
the ground is less dangerous than lightning 
occurring between two adjacent clouds.

		  Which of the statements given above is/are correct?
	 (a)	 Only 1 	 (b)	 Only 2
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 96.	 Consider the following statements with reference 
to the G-7 group:

	 1.	 China and Italy are members of the G-7 
group.

	 2.	 The G-7 summit was held in Italy in the year 
2024.

	 3.	 The Russian Federation's G-7 membership 
was revoked in 2014.

	92.	gky gh esa ppkZ esa jgs yksfcVks dkWfjMksj] ywtksu dkWfjMksj 
,oa feMy dkWfjMksj lacafèkr gSa%

	 (a)	 :l&phu le>kSrk
	 (b)	 G-7 ehfVax
	 (c)	 G-20 ehfVax
	 (d)	 ;wjksfi;u xzhu Mhy

	93.	Hkkjrh; Hkwdaih; ”kksu ls lacaf/r fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 Hkksiky ,oa vgenkckn nksuksa ,d gh ”kksu esa fLFkr 
gSaA

	 2.	 gSnjkckn ,oa t;iqj ”kksu II esa fLFkr gSaA
	 3.	 Jhuxj ,oa es?kky; ”kksu V esa fLFkr gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 1, 2 vkSj 3

	94.	^dkWfLed&js&fMVsDVj* ds lacaèk esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g lqukeh psrkouh ra=k dks lqn`<+ cukus esa l{ke 
gSA

	 2.	 ;g lqukeh lacafèkr psrkouh dks 24 ?kaVs iwoZ rd 
nsus esa lgk;rk dj ldrk gSA

	 3.	 Hkkjr esa fLFkr ^bafM;u us'kuy lsaVj vkWiQ vks'ku 
baiQkWesZ'ku lfoZl* (INCOIS) gSnjkckn bl i¼fr 
dk lqpk# :i ls ifjpkyu dj pqdk gSA

	 	mi;ZqDr esa ls fdrus dFku lgh gSa\
	 (a)	 dsoy ,d	 (b)	 dsoy nks
	 (c)	 dsoy rhu	 (d)	 dksbZ ugha

	95.	^vkdk'kh; fctyh* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s&

	 1.	 ;g ckny ,oa LFky ds eè; ;k cknyksa ds Hkhrj 
cgqr de vofèk esa mPp oksYVst ds ^bysfDVªdy 
fMLpktZ* gksus dh ,d izkÑfrd izfØ;k gSA

	 2.	 ckny vkSj ”kehu ds chp vkdk'kh; fctyh dk 
mRiUu gksuk nks ijLij cknyksa ds chp fctyh 
mRiUu gksus dh rqyuk esa de ?kkrd gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 u gh 2

	96.	G-7 lewg ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s% 

	 1.	 phu ,oa bVyh G-7 lewg ds lnL; gaSA
	 2.	 o"kZ 2024 esa G-7 lewg dk f'k[kj lEesyu bVyh 

esa vk;ksftr fd;k x;kA
	 3.	 :l dh o"kZ 2014 esa G-7 lewg ls lnL;rk jn 

dj nh xbZ FkhA
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		  Which of the statements given above is/are correct?
	 (a)	 Only 1
 	 (b)	 Only 2 and 3
	 (c)	 Only 1 and 3
 	 (d)	 1, 2 and 3

	 97.	 Consider the following statements with reference 
to 'Indian Antarctic Programme':

	 1.	 It is a scientific research programme under 
the National Centre for Antarctic and Ocean 
Research (NCPOR).

	 2.	 Under this programme there are three major 
research centres namely 'Dakshin Gangotri', 
'Maitri and Bharati' of which 'Maitri' is the 
latest one.

		  Which of the statements given above is/are correct?
	 (a)	 Only 1
 	 (b)	 Only 2
	 (c)	 Both 1 and 2 
	 (d)	 Neither 1 nor 2

	 98.	 Consider the following statements with reference 
to forest conservation and management in India:

	 1.	 The Forest Conservation Act, 1980 clearly 
defines 'forest' or 'forests'.

	 2.	 Nagar Van Yojana was launched in the year 
2020, which aims to create nagar vatika in 
urban and non-urban areas by the year 2024-
25.

		  Which of the statements given above is/are correct?
	 (a)	 Only 1 
	 (b)	 Only 2
	 (c)	 Both 1 and 2
 	 (d)	 Neither 1 nor 2

	 99.	 Consider the following statements regarding 'Jan 
Swasthya Abhiyan' and 'Right to Health', which 
were in the news recently:

	 1.	 It aims to increase public expenditure on 
health care to a minimum of 3.5% of gross 
domestic product (GDP).

	 2.	 Its objective is the make Right to Health a 
justiciable right by making appropriate laws 
at the union and state levels.

		  Which of the statements given above is/are correct?
	 (a)	 Only 1 
	 (b)	 Only 2
	 (c)	 Both 1 and 2 
	 (d)	 Neither 1 nor 2

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3
	 (d)	 1, 2 vkSj 3

	97.	^Hkkjrh; vaVkdZfVd dk;ZØe* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g ^us'kuy lsaVj iQkWj vaVkdZfVd ,aM vks'ku 
fjlpZ* (NCPOR) ds rgr ,d oSKkfud vuqlaèkku 
dk;ZØe gSA

	 2.	 bl dk;ZØe ds rgr ^nf{k.k xaxks=kh*] ^eS=kh ,oa 
Hkkjrh* rhu izeq[k vuqlaèkku dsanz gSa ftuesa ^eS=kh* 
uohure gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2

	98.	Hkkjr esa ou laj{k.k ,oa izcaèku ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ou laj{k.k vfèkfu;e] 1980 ^ou* ;k ^ouksa* dks 
Li"V :i ls ifjHkkf"kr djrk gSA 

	 2.	 uxj ou ;kstuk o"kZ 2020 esa 'kq: dh xbZ ftldk 
y{; o"kZ 2024&25 rd 'kgjh {ks=kksa ,oa xSj&'kgjh 
{ks=kksa esa uxj okfVdk cukuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2

	99.	gky gh esa ppkZ esa jgs ^tu LokLF; vfHk;ku* ,oa 
^LokLF; lsok vfèkdkj* (Right to Health) ds lacaèk 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldk mn~ns'; LokLF; lsok ij lkoZtfud O;; esa 
o`f¼ djds ?kjsyw mRikn (GDP) ds U;wure 3.5% 
ds Lrj rd igq¡puk gSA

	 2.	 bldk mn~ns'; la?k ,oa jkT; Lrj ij mfpr dkuwu 
cukdj LokLF; lsok ds vfèkdkj dks U;k;ksfpr 
cukuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2
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641] çFke ry] 

eq[kthZ uxj] 

fnYyh&110009

21] iwlk jksM] 
djksy ckx]  
ubZ fnYyh

13/15] rk'kdan ekxZ] 
fudV if=kdk pkSjkgk] 

flfoy ykbUl] iz;kxjkt

IykWV uacj&45 o 45-A g"kZ 

Vkoj&2] esu Vksad jksM] 
olqaèkjk dkWyksuh] t;iqj

47/CC] cfy±xVu 
vkdsZM ekWy] foèkkulHkk 

ekxZ] y[kumQ

12] esu ,-ch- jksM]  
Hk¡oj dqvk¡]  

bankSj] eè; izns'k
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	100.	 Consider the following statements with reference 
to the Vellore Mutiny (1806-1807 AD):

	 1.	 It was the first large-scale revolt by Indian 
troops against the British.

	 2.	 It was short-lived and lasted only for a single 
day.

	 3.	 Vellore Fort was built in the 16th century by 
the Vijayanagara Empire.

		  Which of the statements given above is/are correct?
	 (a)	 Only 1 	 (b)	 Only 2 and 3
	 (c)	 Only 1 and 3 	 (d)	 1, 2 and 3

	100.	osYyksj fonzksg (1806&07 bZ-) ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g vaxzs”kksa ds f[kykiQ Hkkjrh; lSfudksa }kjk cM+s 
iSekus ij fd;k x;k igyk fonzksg FkkA

	 2.	 ;g vYidkfyd Fkk vkSj dsoy ,d gh fnu rd 
pykA

	 3.	 osYyksj dk fdyk 16oha 'krkCnh esa fot;uxj 
lkezkT; }kjk cuok;k x;k FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3


